
2021_Space160 Flat Base Mod. DROP - | Bagno Chimico per Disabili

Image T blustar Code Unit Description Descrizione
DISTINTA 

BASE
Qty.Needed

TB-ADA-001 PCS Roof Tetto 1

TB-ADA-004-FLAT PCS
Base for Space Flat 

in Abs 15 mm
Pedana Space Flat in 

Abs 15 mm
1

TB-ADA-002 PCS

Additional Smaller 
Dimension 

Panels/Walls for 
Space160

Pannelli Intermedio per 
Space160

3

TB2-002 PCS Panel / Wall Parete 3

TB2-003-B-FRAME PCS
Door Frame & Door 

Assembled
Montante 1

TB-ADA-003-A-DOOR PCS Door for Space160 Porta per Space160 1

TB-ADA-003-C-
PANEL

PCS
Front Door Panel 

for Space160
Pannello frontale Door 

per Space160
1

TB-ADA-005 PCS Corner Toilet Tank
Tanica/Serbatoio WC in 

angolo
1

TB2-007 PCS Toilet Paper Holder Portacarta 1

TB-BLU-08 PCS
Plastic Cap for 

Aluminium Toilet 
Paper Holder Bar

Tappo in Plastica per 
Asta Porta Carta

1



TB-BLU-03 PCS
Toilet Paper holder 

Bar
Asta Porta Carta 1

TB2-008 PCS Ventilation Pipe Tubo di Sfiato 1

TB-ADA-HR-02 PCS
Plastic Caps Kit for 

Hand Rails
Tappi in Plastica per Kit 

corrimani
1

CIRC-N-I-15 PCS
Deep toilet Bowl

T-Evolution
Diaframma Nero 

T-Evolution
1

TB-BLU-FS01 PCS Toilet Seat Seggetta 1

TB-BLU-02 PCS
Panel to Door 

Latch Bracket for 
Lock

Piastra Lucchetto 1

 TB-DOOR-00002 PCS Door Hook Appendiabiti 1

TB-DOOR-00003 PCS Door Latch Bracket Piastra Molla Porta 1

TB-DOOR-FS05 PCS Sliding Door Lock Piastra Serratura 1

TB-DOOR-FS06 PCS
Door Lock 

red/green Cover 
Indicator

Serratura scorrevole 1

TB-DOOR-FS07 PCS

Interior and 
Exterior Door 
Handle / Grab 

Handle

Maniglia 8

TB-DOOR-00008 PCS Door Hinge Cerniera 3

TB-DOOR-0000015 PCS
Panel Grid for Air 

Ventilation 
Rete Areazione 6



TB-DOOR-0000020 PCS
Door Spring for

MyBlok and 
Space160

Molla per Porta
MyBlok e Space160

1

TB-DOOR-0000011 PCS
Washer for Hinge
DIN125 A-140 HV 

M8 X 24

Rondella per cerniera
DIN125 A-140 HV 

M8 X 24
12

TB-DOOR-00009 PCS HINGE NUT Dado per cerniera M8 12

TB-BLU-04 PCS Long Rivet 5x25 Rivetto Grande 5x25 150

TB-BLU-05 PCS

Washer for Rivet
DIN 125A ZN B. D 

6,4 
D. EX. 24 - 

Thickness 1.44 mm

Rondella Piana per 
Rivetto

 DIN 125A ZN B. D 6,4 
D. EX. 24 - Spessore 

1.44 mm

111

TB-BLU-09 PCS
Washer Stainless 

Steel for Handle M5
Rondella Inox per 

Maniglia M5
14

TB-DOOR-0000014 PCS Small Rivet 4,8x16 Rivetto Piccolo 4,8x16 45

TB-DOOR-00001 PCS C-bracket for door Staffa a C per porta 1

TB-DOOR-0004-S PCS
Door frame/spring 

bracket
Piastra per molla 

montante
1

TB4-RP-020 PCS Screw M5x16 Vite M5x16 17

TB4-RP-022 PCS Nut M5
Dado per Maniglia 

Parete M5
18

TB4-RP-023 PCS Washer M6
Rondella per Maniglia 

Parete M6
14

TB4-RP-02 PCS

Cylindrical Head-
Screw with 

Hexagon Socket 
M5x10

Vite 5x10 a testa 
cilindrica bombata con 

esagono incassato
2



TB-ADA-FLAT-01 PCS
Plates Kit to fix 
Base and Roof

Kit Piastre Fissaggio 
Base/Parete composto 

da: PROFILO 1 n° 1 - 
PROFILO 2 n° 6 - 
PROFILO 3 n° 3 - 
PROFILO 4 n° 2 

1

TB-ADA-FLAT-02 PCS
Bracket for 
Handwash

Staffa Lavamano 1

TB-ADA-FLAT-S-03 PCS

Hand Rails type 1 
for Space 160 Flat 
Drop Version and 

Hand-Wash 
Version

Maniglione Tipo 1
per Space Flat Drop e 

Lavamano
1

TB-ADA-FLAT-S-04 PCS

Handle type 2 for 
Space 160 Flat 

Drop Version and 
Hand-Wash 

Version

Maniglione Tipo 2 per 
Space Flat Drop

1

TB-ADA-FLAT-06 PCS
Handle for Moving 

Space160 Flat

Maniglione per 
Spostamento
Space160 Flat

4

TB-ADA-FLAT-07 PCS
Screw ISO 7380 

M6X16 
Stainless Steel

Vite ISO 7380 M6x16 
Inox

testa bombata con 
esagono incassato

42

TB-ADA-FLAT-08 PCS
Screw 6,4x25 

Stainless Steel
Rondella Inox 6,4x25 82

TB-ADA-FLAT-09 PCS
Blind Nut M6 

Stainless Steel
Dado cieco M6 
Stainless Steel

56

TB-ADA-FLAT-10 PCS

Screw Stainless 
Steel ISO 7380 

M6x20

Vite ISO 7380 M6x20 
Inox

testa bombata con 
esagono incassato

25

TB-ADA-FLAT-11 PCS

Screw Stainless 
Steel ISO 7380 

M6x30 

Vite ISO 7380 M6x30 
Inox

testa bombata con 
esagono incassato

1

TB-ADA-FLAT-12 PCS

Screw Stainless 
Steel ISO 7380 

M8x20

Vite ISO 7380 M8x20 
Inox

testa bombata con 
esagono incassato

8

TB-ADA-FLAT-13 PCS Zama Compass M6
Bussola in Zama Inc. 

M6
12


